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First Mid Term Exam
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Multiple Choice(1-to-10)…………[

]



                               Question (11)…………[
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       Question (12)…………[
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       Question (13)…………[
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        Question (14)………...[
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Marking Scheme:[From Q.No.1-to-Q.No.10 one mark each]

Multiple Choices

	Q.No.
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(d) None of these.
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(d) None of these.

Q.No:3  The average value of the function 
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(d) None of these.
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         (d) None of these.

Q .No:5  The value of the integral 
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    (d) None of these.
Q.No:6  If  
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(a)
1,
   (b)  -1,
          (c)  2,
                   (d) None of these.
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(d) None of these.
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Question No: 11
Use the Simpson’s rule to approximate the integral 
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Solution:   
[image: image38.wmf]x

D

=
[image: image39.wmf]4

)

3

(

3

p

p

-

-

=
[image: image40.wmf]6

p

.    
[image: image41.wmf]3

,

6

,

0

,

6

,

3

4

3

2

1

0

p

p

p

p

=

=

=

-

=

-

=

x

x

x

x

x


By Simpson’s rule we have
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Question No: 12
Evaluate the integral 
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Question No: 13
Find  
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Now on differentiating with respect to x we get:
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Question No: 14
Evaluate the integral
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Now put  
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